Output Analysis

We have conducted multiple short runs by changing the arrival rates and keeping the thin rate
constant at 0.5. After which, the confidence interval for the steady state mean is found for different
confidence level of 90%,95% and 99%.
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Finally, we conducted a sensitivity analysis to investigate the effects of the arrival rate on the
average time in supermarket.

For the sensitivity analysis, we apply a two-sample t-test at 90% confidence level to compare the
average time in supermarket when the arrival rate is 0.05 and 0.15.

The two sample t-test formula are as of below:
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w1 7.999730263
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Then T" approximately follows a ¢-distribution with +» degrees of freedom where
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Since the t statistic =-15.56045<-1.729, there is sufficient evidence to reject HO. There is significant
difference between the two average.



